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7 AlgebraII Combo worksheet 1.1 Name_ (£ \n
Simplify Each J
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Find the slope of the line passing through the given points or line. m=-— BRI %
X, =% N

4. (6,5) and (4,—3)

5. (-1,5) end (-115)

6. (—3,5) and (—1,7)

7. (1,8) and (1,15)
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Graph and label each line with the given information.
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12. Use the vertical line test | Give the Domain and Range for each relation.
to determine whether each 13. {(9,3), (7,3),(5,3),(3,3), (1, 3)} 14. )
relation is a function. If not a 1
function, identify two pointsa || go4: : {[ 257 cl 2’ } f
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